20.

22.

23.

24,

25.

26.
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9rg § <) 9l § WA 9 dnll & el O geeell § Wy i |

Explain any three problems faced by slum dwellers in India.

TR # ToEr WERT & R 9re Rl & e S |

Explain any five features of nomadic herding in the world.

HOR & ¥ew uRaed & O SR SN & e Hie |

Explain the merits and demerits of road transport in the world.

TOR § S=RIFT SR & fhel 9re MU’ & T Hifeq |

Explain any five bases of international trade in the world.

IxI1=3

5x1=5

bx1=5

b5x1=5

AFHA & MUR W TR H 79 afcdl & a af § Figd S | F&® a1 &

foregl a-a ferdivarstl & =re ST |

1+2+42=5

Classify the human settlements of the world into two types, by their

_shape. Explain any two features of each type.

‘IR MR 9y iREed TE mewyl fte fer @ 17 3§ %R W g

FHIfT |

“Air transport plays an important role in the international trade.”

Support the statement.

fe@m T § -

A U9 foeM gEe®, 2003 ¥ a9 qou gEeis arer oI
B. frled Smew &1 U &

C. UR-HEafed &M & Sf<H ©I[

D. ffefam & & Y@ 994 WA

(26.1) ¥R 3 feu MU oAt WAt (I8 13 W) § fefafed arR aeo

15
4 X§—2

T TR S UgEE HIGT R YA FUT & G WiE T8 TG W IYH e

a1 fafgw |

P7:0.



qe :

(26.2) WA & fe@ U UsHifas @-aHEs (B 15 W) ¥ fefafea i fafa
Sugw fagl BN feenRy iR 39s A fafay

(1)

g Afus eFwd g TS

(i)  sfEon ¥ fiag 9a M SREE
(iii) A & TH TFRT TR (2001)

3Ix1=3

(26.1) In the given political outline map of the World (on page 13), the
following four features are shown :

A

B.

C.

D.

The country having the lowest rank in
Development Index in 2003

An area of subsistence gathering.
Terminal station of Trans-Siberian Railway

A major sea-port of Australia

Human

Identify these features and write their correct names on the lines
marked near each feature.

(26.2) In the given political outline map of India (on page 15), locate

- and label the following with appropriate symbols :

Note :

64/1

(26.1)
(26.2)
(26.3)

()

The state having the largest area

(ii) The oil refinery located in Haryana

(iii) A metropolitan city of Kerala (2001)

et F97 d9c gEdiT ahiandar & foT 397 967 26 & ©@H W & :

The following questions are for the Blind Candidates only, in lieu
of Q. No. 26 :

ua foeM gEsis, 2003 ¥ <A0H 970 IS A o¥ & AW ARy |

IR-TEARET Imrt &1 3ot sifem Ry $H-91 7 2
I & G99 S 9% 9 TF F 9 9q=30 |
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(26.4)
(26.5)

(26.1)

(26.2)

(26.3)
(26.4)
(26.5)

TN & 3W WE & AW TR @ dd I FREE od ? |

2001 H FHH & IER A H TEFRT T H-90 8 2 5x1=5

Name the country having the lowest rank in Human
Development Index in 2003.

Which is the eastern terminal station of Trans-Siberian
Railway ?

Name the state of India having the largest area.
Name the place where an oil refinery is located in Haryana.

Which is the metropolitan city of Kerala (2001) ?
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For question no. 26.1
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For question no. 26.2 T €. 26.2 F fau

Outline Map of India (Political)
A &1 T@T- AT (TSTHiTaeR)




